[image: image1.jpg]sama Doionmm SO/ O gz,
AS  B6...C7 DI e

FEER: A

.

Ml a%To
Ds g

s ma? =TT =B 2 g
A (021U 1409) —2-1]
SR Do

12]

sl el

s | C

asinx+C 5 CRAURA® ¢ —sinxtC
AEER: B

5

102837 =B TS gy oy e g F

o X dx—sin ydy g, *dx—sin ydy ¢ dr—dy
SR A0

g

iy
RS T X ST
0
Al B2 ché D 4o
wEER: Co
e
wFmmsr. » S O =X pEmsng.
x* x
adz B3 .32 D 5.

FREER: Do

p (oTU2Aw),

p-cosaHC

Do




[image: image2.jpg]- BERT GE20@H 1505

Sxds

e [

sinSx ., cosSx _sinSt _cossx
A 5 B 3 6 B D 5

FEER A
by

S ()= T TS 2N e

200 5 00 e @D D
PRESH: B
g

2 14

SRR

E

LM B b
a3 2 B. S

2 g0 2 g

% %wﬂc % %—9”0
c > -
PRESH: Be

B

N AL
A cotx—2x4C B cotx+2x+C,
¢ —cotx—2x+C p-cotxt2xtC

FHEFR: Do




[image: image3.jpg]~fxdx

s VT g
A2 -2+ +C

 seeno

D4
FREER: A0

opmrm S (02)= 7 —wey

R0
FHEER: Be

)

5 - 2x (R +C
p A=A H(1+ T +C

“EEEYES, w5
e @D DA



[image: image4.jpg]PR 57 0= nEmsne.

= =
adr B 3 c.3 D 5w
SR Do
15y = TN 312 gy g
A2 2T 2] b (124
ESR: Co

[*sin xdx
14 BB T FF
ME-1 ME-f2 1-42 f2-1

o 2 B 2 ¢ 2 b 2 w
EER: co
.

15

A maHTe

g2 D1 .

2
](msm PR

16 oA
o laresin x)* + 24/1- 2" arcsin 7+ 2x+C

¢ xlaresin 2)” = 21— x* arcsin x +2x+C
SR Do
.

17572 0pt, FHBREHET MENE
1

N sl s -1

SR B

g, xarcsin x)? = 2:/1- 2% aresin x - 224+,
p. aresin )* + 24/1-2* arcsin x-2x+C,

—sinx

cx pe'e





复旦大学网络学院
2012年秋季专升本入学考试模拟试卷—大学英语、计算机、高等数学

一、大学英语 （共60题,共150分）
1. Compared with other students, the girl has better listening and speaking _______ in English.

A.capacities    B.possibilities    C.probabilities    D.abilities 

.标准答案：D

2. The speed limit has been _______ because the number of deaths on the highway is increasing.

A.improved     B.reduced       C.produced      D.extended 

.标准答案：B

3. Eventually, he has to _______ his experiments for the reason that nobody would understand him and support him financially.

A.give up       B.give in        C.put up      D.put on 

.标准答案：A

4. I’d like to visit that ancient city in Europe, but I can’t ______the time and the money.

A.offer          B.cost        C.afford        D.take 

.标准答案：C

5. To my disappointment, the new dictionary is not _______ in the bookstore now.

A.invented      B.included      C.concluded      D.available 

.标准答案：D

6. What is being discussed bores me to death. Let’s change to another _______.

A.subject      B.technique      C.distraction      D.intention 

.标准答案：A

7. I could just see a car in the distance, but I couldn't ________ what color it was.

A.make out    B.work out    C.look at     D.take in 

.标准答案：A

8. It is reported that this medicine is _______ against lung cancer.

A.economic     B.easy     C.expensive     D.effective 

.标准答案：D

9. We’ll never forget the man who mad such a(n) _______ contribution to medical science.

A.mere       B.much     C.individual     D.unique 

.标准答案：D

10. My ______ of the speaker was that he didn’t know what he was talking about.

A.impact     B.impression     C.attitude     D.account 

.标准答案：B

11. The United Kingdom______ England, Wales, Scotland, and Northern Ireland.

A.is consisted of    B.constitutes    C.is composed of      D.concludes

.标准答案：C

12. I know nothing about his journey _______ he is likely to be away for six weeks.

A.unless     B.until     C.except     D.except that 

.标准答案：D

13. The ability to speak a foreign language can improve people’s employment and _______ opportunities.

A.application       B.protection      C.promotion       D.innovation 

.标准答案：C

14. Difficulties will _______ as we do the work.

A.rise      B.change      C.a rise      D.raise 

.标准答案：C

15. Some people earn their living by playing football; we call them _______ footballers.

A.elementary    B.amateur     C.progressive      D.professional 

.标准答案：D

16. A book has been stolen, but the teacher said he was sure Jack was _______.

A.nervous     B.innocent     C.desperate     D.emotional 

.标准答案：B

17. Experts are working hard to _______ a plan to solve the traffic problems in this city.

A.come up with     B.cut back on     C.run out of     D.get around of 

.标准答案：A

18. The author makes a(n) _______ between the pump and the heart of a person.

A.demonstration     B.construction     C.comparison     D.difference 

.标准答案：C

19. You need to pay _______ attention to your spelling — you’re making a lot of careless mistakes.

A.responsible      B.impressive     C.frequent     D.particular 

.标准答案：D

20. I just couldn’t _______ what he had been talking about all the time.

A.catch out     B.set out     C.keep on     D.figure out 

.标准答案：D

21. Though he is very young, he is __________ enough to work out that complicated math problem.

A.incredible     B.clumsy     C.intelligent     D.precious 

.标准答案：C

22. With the _________ of Christmas, many people are busy buying presents for their friends.

A.approach     B.addition     C.outcome      D.appearance 

.标准答案：A

23. The three men were given work according to their _______ abilities.

A.curious     B.correct     C.respected     D.respective 

.标准答案：D

24. Talking about the style of music with her is a waste of time, as she can't even _______ the rhythm of a song.

A.appreciate      B.enjoy     C.entertain      D.value 

.标准答案：A

25. His friends went up to him to _______ him on his brilliant performance.

A.flatter     B.delight     C.praise     D.congratulate 

.标准答案：D

26. Over a period of years I have been hearing the same kind of _______ to my question about favorite books.

A.insights   B.challenges   C.solutions   D.responses                .标准答案：D

27. Many children in mountainous areas had to __________ their studies because of poverty and disease.

A.give up     B.start with     C.head for     D.settle in                .标准答案：A

28. Because of their considerable earnings, doctors of medicine are ranked among the most _______ members of American society.

A.enjoyable     B.wealthy     C.healthy      D.thrifty                 .标准答案：B

29. To fulfil the task we are assigned successfully, we have to get well prepared _______.

A.in advance     B.in detail     C.in turn     D.in force                .标准答案：A

30. Scientists have made new discoveries that challenge our ______ theories of the universe.

A.adopted     B.established     C.recognized     D.existed            .标准答案：B

31. His performance was praised by all the spectators and ______ to be the greatest runner in the world.

A.he was said     B.he said     C.is said     D.said him               .标准答案：A

32. In my family, my father has the final say in matters _______ the greatest importance.

A.with    B.of     C.by     D.for                                     .标准答案：B

33. The young man was made _______ from morning till night.

A.work     B.working     C.to work      D.to working                  .标准答案：C

34. While he was away in London, little _______ about what was happening in the company.

A.did he know     B.does he know     C.he knew     D.he knows   
.标准答案：A
35. His knowledge of language and international relations _______ him in his work.

A.help     B.helps     C.was helped     D.have helped               .标准答案：B

36. It was with the help of my friend _______ I completed the task ahead of schedule.

A.before     B.when     C.that     D.so that                        .标准答案：C

37. All of you can master English within two years _______ you don't want to.

A.lest     B.if     C.unless     D.until                              .标准答案：C

38. I wish I _______ such a silly mistake! Or I would have got a promotion.

A.didn’t make     B.wouldn’t make     C.haven’t made     D.hadn’t made 

.标准答案：D

39. He was given a warm welcome when he arrived at the university, but he was not used to ________ that way.

A.treating     B.be treated     C.being treated     D.treated 

.标准答案：C

40. Don’t worry. Everything _______ care of in time.

A.takes      B.will take      C.be taken     D.will be taken 

.标准答案：D

41. -- Would you like tea or coffee?

A.Either      B.Neither     C.Some    D.Both 

.标准答案：B

42. He has never been to America. _______.

A.Nor has his brother        B.Nor does his brother

C.Nor his brother did        D.Nor his brother is

.标准答案：A

43. What is the difference _______ pronunciation between these two words?

A.of      B.in     C.among     D.at 

.标准答案：B

44. Great as Newton was, many of his ideas _______ today and are being modified by the work of scientists of our time.

A.are to challenge               B.may be challenged

C.have been challenged         D.are challenging

.标准答案：C

45. You _______ have looked through today's newspaper because you don't know the news.

A.mustn't     B.shouldn't     C.wouldn't     D.can't 

.标准答案：D

46. He wanted to know if the doctor _______.

A.has sent for     B.had been sent for     C.has been sent for      D.had sent for

.标准答案：B

47. The map is not accurate, which has the small town displaced _______ the wrong river.

A.in      B.across      C.on      D.for 

.标准答案：C

48. The food she has prepared for the party is not enough, for there are _______ people than she expected.

A.much more    B.many more    C.too many    D.so many

.标准答案：B

49. She doesn't speak _______ her friend, but her written work is excellent.

A.as well as     B.so often as      C.so much as      D.as good as 

.标准答案：A

50. The price _______, but I doubt whether it will remain so.

A.went down      B.was going down      C.has gone down      D.will go down 

.标准答案：C

51. 

Cars are important in the United States. Without a car most people feel that they are poor. And even if a person is poor he doesn’t feel really poor when he has a car.

Henry Ford was the man who first started making cars in large numbers. He probably didn’t know how much the car was going to affect American culture. The car made the United States a nation on wheels. And it helped make the United States what it is today.

There are three main reasons the car became so popular in the United States. First of all the country is a huge one and Americans like to move around in it. The car provides the most comfortable and cheapest form of transportation. With a car people can go any place without spending a lot of money.

The second reason cars are popular is the fact that the United States never really developed an efficient and inexpensive form of public transportation. Long-distance trains have never been as common in the United States as they are in other parts of the world. Nowadays there is a good system of air-service provided by planes. But it is too expensive to be used frequently.

The third reason is the most important one, though. The American spirit of independence is what really made cars popular. Americans don’t like to wait for a bus or a train or even a plane. They don’t like to have to follow an exact schedule. A car gives them the freedom to schedule their own time. And this is the freedom that Americans want most to have.

The gas shortage has caused a big problem for Americans. But the answer will not be a bigger system of public transportation. The real solution will have to be a new kind of car, one that does not use so much gas.

(1) Most Americans feel they are poor when _______.

A.they don’t have a car         B.they live in a huge country

C.they don’t use planes        D.they have a car

.标准答案：A

(2) What is the most important reason that cars become popular in the United States?

A.Because the United States is huge.             B.Because public transportation is not so good.

C.Because Americans like to be independent.     D.Because Americans like to move around.

.标准答案：C

(3) What public transportation is good in the United States?

A.Buses.      B.Trains.      C.Taxis.      D.Planes. 

.标准答案：D

(4) _______ has caused a big problem for Americans.

A.A new kind of car         B.Public transportation

C.The gas shortage         D.Poor people

.标准答案：C

(5) Which of the following is not mentioned according to this passage?

A.Cars have made the nation on wheels.    
B.Cars have made the United States have a gas shortage.

C.Nearly 80% of the American people have cars.
D.Cars have made American independent.

.标准答案：C

52. 

People used to know more or less how their children would live. Now things are changing so quickly that we don’t even know what our own lives will be like in a few years. What follows is not science fiction. It’s how experts see the future.

You’re daydreaming behind the wheel of your car, but that’s OK. You have it on automatic pilot, and with its high-tech computers and cameras, your car “knows” how to get you home safely.

You are hungry, so you head for the kitchen as soon as you get home. You ordered groceries (杂货) by computer an hour ago, and you know that by now they’ve arrived. Your kitchen has a two-way refrigerator, which opens to the outside to accept deliveries (送货). You’ve already paid for the food by having the money subtracted (减去) from your bank account. Nobody uses cash anymore.

What’s for lunch? In the old days, you used to stop off to buy a hamburger or pizza. Now you use your diagnostic (诊断的) machine to find out which foods your body needs. You find out you need more vegetables and less fat. Your food-preparation machine makes you a salad.

After lunch, you go down the hall to your home office. Here you have everything you need for doing your work. Thanks to your information screen and your new computer, you almost never go into the office anymore.

The information screen shows an urgent message from a co-worker in Brazil. You set the screen to translate Portuguese into English. As you wait, you think about later, when you’ll have a movie transmitted. What movie should you order tonight? 

(1) According to the passage _________.

A.people were able to predict their own lives in the future

B.it’s difficult for people to predict the changes of their future lives

C.people are used to predicting future 

D.people used to know exactly what their children’s future would be like

.标准答案：B

(2) The possible changes in life mentioned in the passage cover the following aspects except __________.

A.transportation     B.food    C.medicine     D.work 

.标准答案：C

(3) It can be learned from the passage that in the future ___________.

A.you can drive safely home with the help of your car        B.nobody will cook for themselves

C.people will pay for whatever they eat in advance          D.people will no longer eat hamburgers

.标准答案：A

(4) According to the passage, people will pay for what they buy __________.

A.in cash     B.through their bank account    C.by check     D.on credit

.标准答案：B

(5) From what the writer has said, we can see that ________ will play the most important role in people’s lives in the future.

A.the car      B.the food-preparation machine     C.the diagnostic machine     D.the computer

.标准答案：D

三、计算机应用基础 （共50题,共150分）
1. 在一个无符号二进制整数的右边添加一个0，所形成的数是原数的____倍。
A.4 B.2 C.8 D.16 

.标准答案：B

2. 下列说法不正确的是
A.图像都是由一些排列成行列的点（像素）组成的，通常称为位图或点阵图
B.图形使用计算机绘图的画面，也称矢量图
C.图像最大的优点是容易进行移动、缩放、旋转和扭曲等变换
D.图形文件中只记录生成图的算法和图上的某些特征点，数据量较小
.标准答案：C

3. 默认的HTTP（超级文本传输协议）端口是____。
A.21 B.23 C.80 D.8080 

.标准答案：C

4. BBS有两种服务方式：Telnet(远程登录)方式和WWW方式，两种登录方式在相同的网络连接条件下的访问速度相比
A.Telnet的速度快B.WWW方式速度快
C.一样快D.有时Telnet快，有时WWW方式快，说不定
.标准答案：A

5. 下列数据中最大的数是
A.(227)Q B.(1FF)H C.(1010001)B D.(789)D 

.标准答案：D

6. IP地址用４个十进制整数表示时，每个数必须小于____。
A.128 B.64 C.1024 D.256 

.标准答案：D

7. 确定文件名中的通配符“*”表示相应位置上的____合法字符。
A.一个 B.多个 C.空格 D.非字母 

.标准答案：B

8. 在Windows桌面上，任务栏处于屏幕底部，其上有个“开始”按钮，单击该按钮则____。
A.关闭任务栏 B.打开任务栏 C.打开“开始”菜单 D.关闭“开始”菜单 

.标准答案：C

9. 为了保证任务栏任何时候在屏幕上可见，应在"任务栏属性"对话框的"任务栏选项"标签中选择____。
A.总在最前 B.自动隐藏 C.显示时钟 

.标准答案：B

10. 调制解调器Modem的功能是实现
A.IP地址转换B.协议转换C.数据加密D.模拟信号与数字信号间的转换
.标准答案：D

11. 为避免断电时内存数据的丢失、应当
A.在新建文档时即保存文档B.在打开文档时即保存文档
C.每隔一段时间做一次存盘操作D.编辑完文档后保存文档
.标准答案：C

12. 在Windows操作系统中所采用的目录结构为____。
A.树型 B.星型 C.环型 D.网络型 

.标准答案：A

13. 要把插入点光标快速移到Word文档的头部，应按组合键
A.、Ctrl+PageUp     B.Ctrl+↓ C.    Ctrl+Home     D.Ctrl+End 

.标准答案：C

14. 自世界上第一台电子计算机ENIAC诞生至今，计算机的变化发展惊人，但是下列哪项并没有发生多大的改变
A.耗电量 B.体积 C.运行速度 D.基本工作原理 

.标准答案：D

15. 在Excel中，能更好地反映个体与整体间关系的图表类型是
A.条形图 B.饼图 C.折线图 D.柱状图 

.标准答案：B

16. 冯.诺依曼计算机的基本原理是
A.程序外接 B.逻辑连接 C.数据内置 D.程序存储 

.标准答案：D

17. 主存储器与外存储器的主要区别为____。
A.主存储器容量小，速度快，价格高，而外存储器容量大，速度慢，价格低
B.主存储器容量小，速度慢，价格低，而外存储器容量大，速度快，价格高
C.主存储器容量大，速度快，价格高，而外存储器容量小，速度慢，价格低
D.区别仅仅是因为一个在计算机里，一个在计算机外
.标准答案：A

18. 下列关于Window窗口的叙述中，错误的是_____。
A.窗口是应用程序运行后的工作区B.同时打开的多个窗口可以重叠排列
C.窗口的位置和大小都改变D.窗口的位置可以移动，但大小不能改变
.标准答案：D

19. Intel奔腾IV微处理器的字长是
A.16位 B.32位 C.64位 D.128位 

.标准答案：C

20. 计算机网络拓扑是指
A.网络形状 B.网络所使用的操作系统 C.网络所使用的协议 D.网络所使用的物理设备 

.标准答案：A

21. 我国政府部门要建立WWW网站，其域名的后缀应该是____。
A.com.au B.gov.au C.gov.cn D.net.cn 

.标准答案：C

22. 计算机系统由哪几部分组成____。
A.主机和外部设备 B.软件系统和硬件系统 C.主机和软件系统 D.操作系统和硬件系统 

.标准答案：B

23. 在Word编辑状态下，不可以进行的操作是
A.对选定的段落进行页眉、页脚设置B.在选定的段落内进行查找、替换
C.对选定的段落进行拼写和语法检查D.对选定的段落进行字数统计
.标准答案：A

24. 具有多媒体功能的微机系统，常用CD-ROM作为外存储器，它是____。
A.只读软盘存储器 B.只读光盘存储器 C.可读写的光盘存储器 D.可读写的硬盘存储器 

.标准答案：B

25. 一个计算机网络组成包括
A.传输介质和通信设备 B.通信子网和资源子网 

C.用户计算机和终端 D.主机和通信处理机 

.标准答案：B

26. 计算机能记忆是因为____。
A.它能进行逻辑判断 B.使用存储器 C.计算精度高 D.使用CPU 

.标准答案：B

27. 下列不可能出现在Windows“资源管理器”窗口左部的选项是____。
A.我的电脑 B.桌面 C.(C:) D.资源管理器 

.标准答案：D

28. 下面的说法中，哪个是不正确的
A.电子出版物存储容量大，一张光盘可以存储几百本书
B.电子出版物可以继承文本、图形、图像、动画、视频和音频等多媒体信息
C.电子出版物不能长期保存
D.电子出版物检索快
.标准答案：C

29. 下列关于Internet的说法，不正确的是_______

A.Internet是目前世界上覆盖面最广、最成功的国际计算机网络B.Internet的中文名称是“因特网”

C.Internet是一个物理网络D.Internet在中国曾经有多个不同的名字
.标准答案：C

30. ASCII编码占用的字节长度是____，最高1位不用。
A.1个字节 B.2个字节 C.3个字节 D.4个字节 

.标准答案：A

31. 通常所说的FTP协议是指
A.简单邮件传输协议 B.提供远程登陆功能 

C.文件传输协议 D.保证数据的传输 

.标准答案：C

32. 计算机的主要部件包括
A.电源、打印机、主机 B.硬件、软件、固件 

C.CPU、中央处理器、存储器 D.CPU、存储器、I/O设备 

.标准答案：D

33. ____是上档键，可以用于辅助输入。
A.Shift      B.Ctrl      C.Alt      D.Tab 

.标准答案：A

34. 最能准确反映计算机功能的是下列哪一项
A.计算机可以代替人的脑力劳动B.计算机可以记忆大量的信息
C.计算机可以实现高速度的运算D.计算机是一种信息处理的设备
.标准答案：D

35. 下列属于计算机网络所特有的设备是____。
A.显示器 B.UPS电源 C.路由器 D.鼠标器 

.标准答案：C

36. 在Word的编辑状态，打开文档ABC，修改后另存为ABD，则文档ABC____。
A.被文档ABD覆盖 B.被修改未关闭 C.被修改并关闭 D.未修改被关闭 

.标准答案：D

37. 在Word的文档中，每个段落都有自己的段落标记，段落标记的位置在
A.段落的首部 B.段落的中间 C.段落的结尾处 D.段落的每一行 

.标准答案：C

38. 在Word编辑状态，打开文档“abc”，修改后，另存为“abd”，则文档abc

A.被文档abd覆盖 B.被修改未关闭 C.被修改并关闭 D.未修改被关闭 

.标准答案：D

39. 发现微型计算机染有病毒后，较为彻底的清除方法是
A.用查毒软件处理 B.用杀毒软件处理 C.删除磁盘文件 D.重新格式化磁盘 

.标准答案：D

40. word 具有的功能是____。
A.表格处理 B.绘制图形 C.自动更正 D.以上三项都是 

.标准答案：D

41. 在Internet 上，为使计算机之间能够彼此通信，需要共同遵守某种协议。现在Internet广泛采用的一种通信协议是
A.文件格式协议 B.信息交换协议 C.TCP/IP协议 D.硬件生产标准协议 

.标准答案：C

42. 下列四条叙述中，属RAM特点的是
A.可随机读写数据，且断电后数据不会丢失B.可随机读写数据，断电后数据将全部丢失
C.只能顺序读写数据，断电后数据将部分丢失D.只能顺序读写数据，且断电后数据将全部丢失
.标准答案：B

43. 要打开IE窗口，可以双击桌面上的什么图标
A.Internet B.网上邻居 C.Outlook Express D.我的电脑 

.标准答案：A

44. 提出计算机硬件由运算器、控制器、存储器、输入设备和输出设备等五大逻辑部件组成的科学家是____

A.牛顿 B.摩尔 C.冯、诺依曼 D.比尔、盖茨 

.标准答案：C

45. LAN通常是指
A.广域网 B.局域网 C.资源子网 D.城域网 

.标准答案：B

46. 在Windows资源管理器中选定了文件或文件夹之后，若要将它们复制到同一个的驱动器的文件夹中，操作为
A.按下CTRL键拖动鼠标 B.按下Shift键拖动鼠标 C.直接键拖动鼠标 D.按下Ait键拖动鼠标 

.标准答案：A

47. 在Windows中，其“桌面”指的是____。
A.整个屏幕 B.某一个窗口 C.全部窗口的集会 D.当前打开的窗口 

.标准答案：A

48. 内存储器可分为随机存取存储器和____。
A.硬盘存储器 B.动态随机存储器 C.只读存储器 D.光盘存储器 

.标准答案：C

49. 话筒属于____设备。
A.输入 B.输出 C.显示 D.存储 

.标准答案：B

50. 常见的典型局域网类型有三种，它们分别是总线型、环型和
A.直线型 B.星型 C.曲线型 D.串联型 

.标准答案：B
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